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HISTORY
( Honours )

Paper : HIS-HC-5026
[ History of India (1780-1857) ]

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any fen of the following as directed :
: 1x10=10

e R (@I webE Ty ety g

fa) Where did the French establish their first
factory in India?
FDPIFCE SHOS (OEEFT 24 IEYE IS
Foe R 2

(b) Who gifted Bombay (Mumbai) as dowry to
the British?
@A 03 ([ER)F e o Bt T
fafest 7
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()

(d)

(e)

(g)

()
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(2 )

Which European country was the first to
trade by sea route in India?

T BSCEAT (O AN SETT AR
YT T PR ?

Who wrote the book, India Today?
India Today A %4 (¥ forfdfes 2

Who was the founder of the Sikh
Kingdom?

B9 18y (e Fom FfRfRe 2

Who introduced the system of Daroga as
part of police reforms?

S RFRT O fBiee A 9" @I
ECEIE SR W

Who was the in-charge of collecting
revenue under the Mahalwari
Settlement?

TREAR] IR ST W FRADR MRS @
e ?

Who introduced the Ryotwari
Settlement?

I ISR IV TG Ffafest 2

( Continued )

(3)

(i) In which year was The Asiatic Society of
Bengal established?

@] =% The Asiatic Society of
Bengal ¥ 91 (2% ?

() Who introduced the Doctrine of Lapse?

ﬁ—ﬁmﬁﬁ%mmaﬁ&a?

(k) Which Act ensured the establishment of
the Supreme Court in India?

me-mmmﬂw
fifve Fffee ?

() Which was the first Indian State to
accept the Subsidiary Alliance?
e Rgel Mo 22 F1 ST AL e
% wnfest 2

(m) Name the institutions through which
indigenous education in pre-British India
was carried out.
sfren fiftr, SROS 4 o Bl e
%41 AfoBEPTIR % ol |
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(4)

(n} Which of the following statements about
the Revolt of 1857 is incorrect?

Svraq B fIcare o ©od (ol B e
(i) Absence of all India participation
e SEEINT R S

(i) Lack of unity between the Hindus
and Muslims

39 S YR TS AP TS

(i) Begum Hazrat Mahal lead the Revolt
in Bhopal

@O TEES TIE (oeee [{oued (e
32 FffRE

( Choose the correct answer )

( % TE0h! Ak Tfenear )

(o) Write any one economic impact of British
Colonialism in India.

Tes Qe SRERwerrE & @ @b
GetafeT ge[ Bl

() What was Damin-i-Koh?
wifie-2-cere o wifee ?
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(5)

{q) Write any one impact of commer-
cialization of agriculture in India.

w@@ﬁﬂﬁ%ﬁ?@ﬂﬁm@m
fora

() Where did the Revolt of 1857 start?
Swea 5 RoaR $70 we 27 7

2. Answer any five of the following questions
in brief : 2x5=10
o e i G B P T o
(a) Mention any two differences between the
Orientalists and Utilitarians.
oo S SRt W { e Ll
sfefery Srard 41 |

() Write two causes for the introduction of
the Permanent Settlement in Bengal.

g T Ty e S 1w e

(c) Why was opium cultivation important for
the British empire in India?

oqos e TEER e e R
ey et ?
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S (9)

b) Indi ivati
o EURER N (me 4. Answer any four of the following questions :
S oo 10x4=40
o erprgE i e bifoe T i ;
(c) Subsidiary Alliance
. (a) With reference to the Carnatic Wars,
FIEER fael Fifs : discuss about the  Anglo-Mysore
relations.
(d) Police Administration in India under the v e, SIS A, 3T W A
e Rayen S 4 |

East India Company
| ST 2 YA (FAAR SICHRTS A5 e

(e) Mahalwari Settlement (b} What were the factors tha_t led to the
conflict between Mir Kasim and the

TR I8 English? What were its outcome?

Taedy oI 2E[EE - [Eo IO A &S

() Rural Indebtedness wifee] 2 AR T & oifewt ?

KIS Claieio]

(c) Discuss the orientalist perception of

M ) ; :
(9) Macaulay’s Education Policy India in the late 18th and early 19th

Macaulayd 7% qife Centuries.
Sy WREER T TF S5 PR SATAE
(h) William Jones W SES TG APl YR A
' 4 |
Tfer (e
( Turn Over )
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(d)

(e)

(g)

(h)
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( 10 )

Critically discuss about

Settlement.

Ryotwari

RIS -5 B Bl 1 O
SIRCERT |

Critically discuss the theory of ‘Drain of
Wealth’.

reing qfRefefa’ Sty ¢t eSS [Resd
ARG |

Was there deindustrialization in India
during the period of your study?

(SN LAY PEERRNe SEes RGN
Cafesieatss 2

Discuss about the occurrence of famines
in India during the period of your study.

(BN S IS SROS (B[ e
R e 340 |

Discuss the causes for the failure of the
Revolt of 1857.

Sreq B Reued epeeTey IRPHR WAl
91 |

- { Continued )

()

(11 )

Write an essay on the forest policy in
India during the early 19th century.

o3 HRoTR TREACS SEEE FH-Aed R €
<o ot |

(i) What were the causes of the Santhal

A23—4000/299

Rebellion?

m@mﬁm@ww%“‘@@?
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